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"An honest mind possesses a kingdom." 
Lucius Annaeus Seneca (4B.C.-65A.D.) 

"Honest people are the true winners ofthe universe." 
Anonymous 
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This table will he used by Inan for recording the grades! 
Problem Points 2ained 

#1 
#2 
#3 
#4 

TotaJ 

NOTE: On all the problems, please show all your work, and provide the appropriate units for your 
answers. Also mark on the schematic to show any currents or voltages that JOu define in lour 
solution. 

1. (25 Points) For the resistive circuit shown, fmd the voltage VI that 

~-y.---~,npears across the 600 n resisto~5a~t-in_d_i_ca§t_e_d_.__~ ---, 
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2. (25 points) In the circuit shown, fmd the current iy through the 1.5 kG 
resistor. Please show your work step by step. 
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3. (Total: 25 points) Consider the circuit shown below. 

U2. '=: - 3 Ie.. n.. (3 ,~ v) =. - 1... '6 \J 
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RT = (3 kD)// ( 4,5 kQ.) =: 1..'8 krr 
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~8'J RL = RT = (1.8 kS2.. [ 
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(b) (10 Points) Find the maximum value of the power absorbed by RL. 
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4. (25 points) In the circuit shown, both the source voltage and the 
source current are given. Assuming all capacitors to have the same 
value, what is C? (Note: Show all the steps in your solution and please 
provide the appropriate unit for your answer.) 

~ 
is(t)=4cos(3 x106t) (rnA) 

~------j'--~~~"":::'--

vs(t)=10sin(3x106t) (V) 
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